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w [0 ON O O N, -~ 0 0 N,
0000
1 2x1,)(1-2y/1,) (1 -22/1,) 1 2x1,)(1-2y/1,) (1 +22/1,)
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x du/ox
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4 = vl au/:;via;v/ax =([8] [B] - [B]}{4 (1.4)
Yy 0v/0z + dw/ dy
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ax A L) oy Al L) ez A4, 1 ,
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ox A, L, ) ey 4, |, B oz A\ 1 l,
Ny 1f) 2y 2z) N _ () 2 22} oN, 1) 2x)() 2y
ox A, L, ) ey 4, 1, B oz 4, |, l,
oN, _ 1 [1_ﬂ [12_j N, _ i[ L2 [lz_j N, _F[l& [1 L]
x A\, L) ey A, B oz 4, 1, l,
N, _ 1 [1+QJ[1 Ej N, -i{l Qj[l Ej N, -i[l ﬂj{l ﬂ]
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do i1 = 1,nz+1

do j = 1,ny+l

do k = 1,nx+1

n = (ny+1)*(nx+1)*(i-1)+(nx+1)*(g-1)+k 1gooo
x(n) = dble(k-1)*elx 1000 x0d

y(n) = dble(j-1)*ely

yoo
z(n) = dble(i-1)*elz zOO
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end do
end do
end do
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doi=1,nz
do j = 1,ny
do k = 1,nx
n = ny*nx*(i-1)+nx*(g-1)+k 1gonoo

indv(n,1) = (ny+1)*(nx+1)*(i-1)+(nx+1)*(-1)+k

indv(n,2) = (ny+1)*(nx+1)*(i-1)+(nx+1)*(J-1)+k+1
indv(n,3) = (ny+1)*(nx+1)*(i-1)+(nx+1)*j+k+1
indv(n,4) = (ny+1)*(nx+1)*(i-1)+(nx+1)*j+k
indv(n,5) = (ny+1)*(nx+1)*i+(nx+1)*(j-1)+k
indv(n,6) = (ny+1)*(nx+1)*i+(nx+1)*(J-1)+k+1
indv(n,7) = (ny+1)*(nx+1)*i+(nx+1)*j+k+1
indv(n,8) = (ny+1)*(nx+1)*i+(nx+1)*j+k

end do

end do

end do
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10cm /1

10cm
E =100GPa
v=0.3
< 10cm >
031 O0OoOooo
031 O000ooooooooono
PCG solver Skyline solver
CPU time (Intel Celeron 466MH2z) 4.45 sec 91.89 sec
Displacement 0.01551 cm 0.01551 cm

032 0000OO0O0OOOoooon

oooad oooad CPU time (Intel Celeron 466MH2z)
10x 10x 10 1000 4.45 sec
20x 20x 20 8000 51.7 sec
30x 30x 30 27000 232.7 sec
40x 40x 40 64000 704.1 sec
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g 500
S 400 |
S 300 |
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doi=1,nz
do j = 1,ny
do k = 1,nx
n = ny*nx*(i-1)+nx*(g-1)+k 1gooo

indv(n,1) = (ny+1)*(nx+1)*(i-1)+(nx+1)*(g-1)+k
indv(n,2) = (ny+1)*(nx+1)*(i-1)+(nx+1)*(J-1)+k+1
indv(n,3) = (ny+1)*(nx+1)*(i-1)+(nx+1)*j+k+1
indv(n,4) = (ny+1)*(nx+1)*(i-1)+(nx+1)*j+k
indv(n,5) = (ny+1)*(nx+1)*i+(nx+1)*(J-1)+k
indv(n,6) = (ny+1)*(nx+1)*i+(nx+1)*(J-1)+k+1
indv(n,7) = (ny+1)*(nx+1)*i+(nx+1)*j+k+1
indv(n,8) = (ny+1)*(nx+1)*i+(nx+1)*j+k

end do

end do

end do
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uoboooobbooboooobboobbooooboboano

subroutine EImNum(n, indv,nx,ny,nz)
implicit real*8(a-h,0-2)
dimension indv(l)

i
mi

int(n/(nx*ny)) + 1
mod(n,nx*ny)

if( mi.eq.0 ) 1 = int(n/(nx*ny))
nl =n - nx*ny*(i-1)

Jj = int(nl/nx) +1

mj = mod( nl,nx )

if( mj.eq.0 ) j = int(nl/nx)
k =nl-nx*(-1)

indv(l) = (ny+1)*(nx+1)*(i-1)+(nx+1)*(-1)+k
indv(2) = (ny+1)*(nx+1)*(i-1)+(nx+1)*(G-1)+k+1
indv(3) = (ny+1)*(nx+1)*(i-1)+(nx+1)*j+k+1
indv(4) = (ny+1)*(nx+1)*(i-1)+(nx+1)*j+k
indv(5) = (ny+1)*(nx+1)*i+(nx+1)*(j-1)+k
indv(6) = (ny+1)*(nx+1)*i+(nx+1)*(-1)+k+1
indv(7) = (ny+1)*(nx+1)*i+(nx+1)*j+k+1

indv(8) = (ny+l)*(nx+1)*i+(nx+1)*j+k

return
end
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